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Layton o

© Newdon

© Moorby

The map above, drawn to a scale of 4 cm to represent 1 km, shows the positions of

three villages, Layron, Moorby and Newdon.

Simon's house is the same distance from Moorby as it is from Layton.

The house is also less than 3 km from Newdon.

4

Draw a copy of the map and mark on your drawing the possible positions of
Simon's house. Show your construction lines clearly.

(MEG)
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Signals from a radio mast, M, can be received up to a distance of 100 km. Use a
scale drawing of 1 em to represent 20 km to answer the following questions.

(a)  Shade the region in which signals from the radio mast can be received.

The distance of a helicopter from the radio mast is 70 km, correct to the nearest
kilometre.
(b)  Write down

()  the maximum distance the helicopter could be from the radio mast

(ii)  the minimum distance the helicopter could be from the radio mast.
(LON)
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X Dl A Y

The diagram represents a box which is to be moved across a floor XY.
AD =30 cm and AB=20cm.

First the box is rotated about the point A so that BC becomes vertical. Then the
box is rotated about the new position of the point B so that CD becomes vertical.

() Copy the diagram and draw the locus of the point C.

(b)  Calculate the maximum height of C above the floor. Give your answer
correct to one decimal plece.
(A measurement from the scale drawing is unacceptable.)
(LON)
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10.

(a)

(b)

(©)

(i)  Draw a straight line, AB, 8 cm long.
(i) Draw the locus of points, P, which lie above the line AB such that the

area of triangle ABP is 12 cm®.

On the same diagram, construct the locus of points, Q, which lie above the
line AB such that angle AQB is 90°.

Hence draw all triangles ABC which have C above AB, an area of 12 cm”®

and an angle of 90°.
(MEG)
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11.

The diagram shows the wall of a house drawn to a scale of 2 em to 1 m.
A dog is fastened by a lead 3 m long to a point X on a wall.

On a copy of the diagram shade the area that the dog can reach.

Seale: 2 cmto 1 m \

House

[ 2o

(OCR)
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12, The diagram shows an L shape.
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On a copy of the diagram, draw the locus of all points 2 cm from the L shape.
(AQA)
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13.  The diagram shows a quadrilateral PQRS.

P Q

R

() Onacopy of the diagram, draw the locus of points that are the same distance
from P as from Q.
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(b)  Shade the region inside the quadrilateral which is less than 7 cm from S and
nearer to Q than to P.
(AQA)
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Construction of Loci

1. Theline ABis 5 cm long. Draw the locus of 2 point which is always 2 cm from

the line AB
A D
2. (a) Copy the diagram opposite
(b)  Construct the locus of a point
which is equidistant from both lines
3. Twooil rigs, Aand B, are in the sea near
the port of C
N c B
N
A
B

Sea

T
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(2) A third oil rig s the same distance from A and from B.
Copy the diagram and construct the locus of possible positions of the third
oil rig on the diagram.

(b)  The third oil rig, D, is also the same distance from C as it is from A and B.
Mark with a cross the position of D.
(SEG)

The diagram shows a field, ABCD, drawn to a scale of 1 cm to 10 m. Treasure is
hidden in the field.

A B





image3.png
() The treasure is at equal distances from the sides, AB and AD.
Copy the diagram and construct the locus of points for which this is true.

(b)  The treasure is also 60 m from the corner, C. Construct the locus of points
for which this is true.

(¢)  Mark with an X the position of the treasure.
(SEG)
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5.

The diagram below is a scale drawing of the floor of a room.
In the diagram, 2 cm represents 1 m.

X marks the position of an electric socket.
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A vacuum cleaner is attached by a cable to the socket and can clean the floor up to
3 metres from the socket.

Copy the diagram and shade the part of the floor which can be cleaned by the
vacuum cleaner.
(MEG)

Jason has to sail his ship between two rocks so that his ship s always the same
distance from Point A on the first rock and Point B on the second rock.
The diagram on the following page shows the rocks.

On a copy of the diagram, construct accurately the path along which Jason must
sail his ship.
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